Income Tax Outline (David Walker, Fall 2009)
Court set up

	Venue
	Tax Court
	Claims Court
	District Court

	Judges
	Tax experts
	Some experts
	Generalists

	Jury?
	No
	No
	Yes

	Appeal to?
	Local Court of Appeals
	Fed. Cir.
	Local Court of Appeals

	How to get there?
	Refuse to pay tax and sue
	Pay & sue for refund
	Pay & sue for refund


· Good case on law, want tax judge. Long shot, go to district court and get a jury. 

· Order of Authority

· Code- highest authority

· Treasury regulations. Force of law unless inconsistent w/code

· Courts are bound by these

· Revenue Rulings: written guidance of the Treasury

· IRS bound by them, not Courts

· Private letter rulings: party asks IRS for ruling in advance. Only binding on that transaction. No precedential value, but informative. 

Gross Income

1. Haig-Simons Income- the sum of (1) consumption and (2) the change in value of the store of property rights, in a given period. 

a. Consumption plus change in wealth

b. We’re trying to tax net income, not receipts. 

2. Art. 1 § 2 clause 3- “Congress shall have the power to lay and collect taxes”, “direct taxes shall be apportioned…according to their respective numbers.”

a. Cong intends to use the full measure of their taxing power.

b. Question of if something constitutes gross income is a Const question, not a statutory question. 

3. Old Colony Trust (1929) pg 98- Wood gets a salary, then company pays the taxes owed on that salary. Difficulty in a progressive tax scheme of figuring out the rate that his salary is taxed at, because he may have other income.

a. If someone pays your taxes, it’s like income and you have to pay tax on the payment. 

4. § 61- Defines Gross income

5. Turner v. IRS – prize of tickets for $2,220- how much to be taxed? 

a. Today, taxed the FMV of prizes.

b. § 1.61-(2)(d): Compensation paid other than in cash

6. Fringe benefits – reduce income, and add complexity to the code. 

a. Two major categories

i. § 119 – statutory, those that are enumerated

ii. § 132 – nonstatutory, a catch-all. Codifies common-law exclusions. 

b. Statutory (more about defining income)
i. § 119

1. 119(a) Meals and lodging – excluded if the meals are furnished on the business premises, and if the lodging is required as a condition of employment.

i. Policy- duplication- may have to maintain home elsewhere also – doesn’t change consumption

ii. Meals- has to be for the convenience of the employer- Cong doesn’t care if there’s a benefit to the employee.

iii. ER must have a substantial noncompensatory business reason (Reg 1.119-1(a)(2)(ii)(a))

b. Hypo- work at a law firm until late, they provide dinner- not excludable. But if cafeteria at firm, eat there- excludable. 

ii. 119(d)- In general, GI doesn’t include campus lodging to an employee

1. Exception- lesser of 5% of FMV of apt (not rent) or average annual rent to 3rd parties. 

2. Hypo- you pay $24k/yr for NYU apt, valued at $1mm. 5% is $50k, so $26k, is included in gross income. 

iii. Benaglia
1. Hotel manager gets free room/board. Court holds not income

a. Relies on common law exclusion from income of benefits given for ER convenience.

2. Problem is, net benefit given to EE also (income). 

a. Would be hard to determine value – FMV  may be too high, unfair. FMV may be hard to determine. Subjective value could be good, but tax can’t figure that out, so just exclude. 

iv. Kowalski- Trooper, gets money for meals, only wanted to include part of it in return. Court says to include it all. How is a food stipend diff from a raise?

1. Money not the same as furnished meals. 

v. § 107- rental value of parsonages excluded. Doesn’t matter if it’s an actual home or a cash stipend- How is this Const? (Prob not)

vi. § 106- GI doesn’t include employer provided coverage under an accident or health plan

1. May not be efficient- TP’s may rather have the cash than the policy (could buy a smaller policy), but would have to pay tax on the cash, so take the policy instead. 

2. Dead weight loss- taking something you value at a smaller amount than society does as a result of tax preferences

c. Non-Statutory Fringes (more about tax prefs and incentives)
i. Statutory exclusion for § 132

1. (1) No-additional cost services (provided to employees in line of work, or reciprocal agreement w/other business), no discrimination

a. If United only lets pilots fly standby, that’s discriminatory, no exclusion. 

2. (2) Qualified employee discounts- doesn’t apply to investment type properties.

a. Can’t exceed 20% (only taxed on excess)

b. Can’t exceed the gross profit percentage price at which it’s being offered to customers

i. GPP= (price-cost)/price OR profit/price

ii. Hypo: $100mm price - $60mm cost / $100mm price = 40%. If 50% discount, taxed on 10%

c. Policy- promote their products, discourage employee theft. 

3. (3) Working condition fringes (chalk at school)

a. Things that would be deductible under 162 (ordinary & necessary business expenses) or 167

b. Policy- not personal consumption

4. De minimis fringe

a. FMV is so small, not worth counting. Takes into account frequency. 

b. Examples on pg 1099 of code, upper right corner

5. Qualified Tuition reductions

7. Imputed Income

a. We don’t tax imputed income, only income from market transactions.

b. Imputed income

i. The rent you don’t pay when you own your home.

ii. Labor- doing your own housework (as opposed to working full time and paying someone to do it)

c. Policy- Efficiency. Fairness. Where to draw the line of what’s a service. 

i. Could also argue unfair and inefficient (hypo of D, could go to work FT and make $10k, but her housework is valued at $8k. W/o tax, she’d go to work, but if tax were 40%, her take home would be $6k, she’d just stay home. Inefficient.{but it’s inefficient because of tax- taxing imputed income would be like leveling down})

ii. We try to adjust with credits and the like. 

Recovery of Capital

1. Basis
a. Recovery of what you spent. Basis is what it initially cost you.

i. Un-deducted investment in something. 

b. § 1001(a)- determining the gain or loss

i. Excess of the Amount Realized over the Adjusted Basis

c. Shares- if you buy shares over time, how do you know which ones (and which basis) you’re selling?

i. Default rule is the first in, first out.

ii. But § 1012-1(c) says if you have a specific program for identifying shares and knowing their basis, you can choose which ones you’re selling. 

d. Raytheon- RCA makes a $350k payment to Raytheon for eliminating their line of business. Not about lost profits, about goodwill. But what is the basis of goodwill?

i. Court says burden of proof is on Raytheon, they couldn’t show a basis, so basis was zero- all taxable. 

ii. (Can’t count advertising- that was deducted when spent. If Raytheon had bought the co. from someone earlier, might be able to show the value of goodwill (price paid above assets)

2. Recovering personal damages

a. § 104(a)- GI excludes payment for physical damages (but not punitive)

i. Workmen’s comp, lawsuits, insurance payout

1. No distinction for lost wages here (will be in §105)

ii. Policy- Taxing $ for pain and suffering is offensive, recovery for expenses (medical) shouldn’t be taxes, recovery for human capital shouldn’t be taxed. 

1. But there’s a market transaction? Involuntary one. 

iii. Emotional damages are murky- phys injuries from emotions don’t qualify, but emotional distress from phys injuries may?

1. Policy- deter fraud

iv. Hypo: TP buys own insurance, injured- $100k med bills, $50k loss of limb, $30k lost wages

1. All excludable.

2. If had been an insurance payout, still not TI.

b. § 105- Amounts received under accident or health plans

i. Tough to determine if you’re in 104 or 105

1. If not excludable in 105, prob is in 104

ii. GI includes the payouts from employer paid health plans, unless reimbursing for expenses

1. Use this if employer provides whole plan.

2. If employee pays, 104 applies.

iii. Lost wages are excluded under § 104, but not § 105. So, if you buy your own insurance

1. Policy- not sure, didn’t include employer paid premiums in GI, maybe being stingy now. 
iv. Hypo: Employer insurance, $100k med bills, $50k loss of limb, $30k lost wages.
1. Lost wages included in GI.
c. § 106- GI doesn’t include employer provided coverage under an accident/health plan. 

3. Annuities §72

a. Annuity has payments beyond the current taxable year. 

i. If you were to invest a dollar and get 50cent payments over 3 yrs, how much of each payment is basis?

ii. Compound interest- invest now at a rate, how much do you have after how many years?

iii. Discounting- Look at table of discount factors (pg 840), multiply factor by how much money you want at the end of the time period, that’s how much you need to invest now.

b. Annuity hypo- will pay $1k in yr 1 and in yr 2, interest is 10%

i. Discount factor for 2 yrs is .826 = $826

ii. Discount factor for 1 yr is .909 = $909

iii. So total value of annuity (amount you need to invest?) is $1735

c. Exclusion ratio- how to calculate how much to exclude from GI

i. Bank account method- to tax it as if you’d put the $1735 in a bank account. Taxes more upfront

1. Open balance of 1735, get $173 interest first year, subtotal of $1909 in bank, withdraw $1000, then $909 in bank. Next year get $91 of interest, subtotal $1000, withdraw it all. 

a. Taxed on $173 Y1, $91 Y2

ii. Annuity method- looks at how much you initially need to invest and how much total interest you’ll get, and divides it over the years.

1. So, in above hypo, invest $1735, will get $1k for 2 yrs= $265 of interest. Would pay tax on $132.5 each year. 

2. Allows you to defer your tax.

d. Annuity for life- there are life expectancy charts to calculate.

i. If the above hypo were life annuity, G-pa dies after Y1, tax issue is that he still needs to recover basis- of the $1k he received, only $867.50 was basis payment- he’d get to deduct the unrecovered investment. 

ii. If G-pa didn’t die after Y2, have to recalculate discount factor, since you’ve increased the # of yrs that’s paying. 

4. Life Insurance § 101

a. Two kinds 

i. Term- bet if you’ll die in next year, pay premium. Die= payout.

ii. Level premium/whole life- contract to pay premium annually, payout happens when you die.

b. Not taxed on the payout 

i. Unless you sold the policy (§ 101(a)(2))

c. Could try to replicate this by putting $ in the bank, but then you’re taxed on the interest. 

Realization
1. G/L isn’t taxed until realized.

a. Policy- idea that deferring tax is always good. Administrative nightmare- always fluctuating. Valuation problems- appraising every year? Also, if your stock goes up, you’re wealthier under H-S, but don’t necessarily have more cash.

b. Mark to market- evaluate the current value, tax on the change ( I think) (MISSING NOTES?)

c. Value in waiting til realization is that you defer the tax- can do something else with the money. Think of it as an interest free loan until you pay the tax. 

2. Cesarini (1970) pg 156- guy found $5k cash in piano he bought for $15, trying to say it isn’t income under § 61. A gift under § 102. Court says it’s a treasure trove, counts. § 74 is for prizes and awards, they count as GI.

a. But if you’d discovered the piano was worth $5k, wouldn’t be taxed until you realized it (sold it)

b. Have to tax the cash today, or won’t be another opp. Will have another opp with the piano.

3. Eisner v. Macomber (1920) pg 161: Can Cong tax stock dividends where the stock divided? No, b/c not income, because not realized

a. Stands for the fact that you don’t tax until realization

4. Haverly (1975) pg 159: Principal gets books for free, donates them, claims a deduction. If he’d sold the books, he could deduct. But as of now, he’s double dipping. Can’t deduct. 

a. When does the realization occur? At the deduction, or simply receiving the books?

5. Bonds- way for corporations and municipalities to raise money. Payout before shareholders. 

a. Coupon bond- invest the principal, get interest payments for so many years, at the end, you get the principal back. 

b. Zero coupon bond- don’t get regular interest, but get it all at the end. 

6. Original Issue Discount § 1272 & 1273

a. Basically a zero coupon bond

b. Doesn’t apply to coupon bonds- only those where interest is accruing, but not paid out on a regular basis. 

c. Concept- tax it like a bank account

i. But is that taxing w/o realization? Yes. Court says isn’t a Const issue, but policy. With a bond, there is certainty on payout, stock is uncertain. 

ii. BIG exception to realization. 

d. Hypo- you buy a $100  yr bond, get $5 coupons, end payout of $115

i. Still have OID- more at end then beginning.

e. DO WE NEED TO KNOW HOW TO CALCULATE THESE?

7. Capital Gains rates

a. The higher the rate, the more of a lock in problem you create

i. Could counter this with lower rates, or allow for a tax deferred stock rollover 

ii. Relationship between capital gains rates and realization issue. 

Gifts
1. § 102: General rule that GI doesn’t not include value of property of gift, bequest, device, or inheritance

a. Policy- Double tax (already paid tax earning the money)? Public would be upset, seems silly to tax inter-family support. 

b. Could decide to tax the donee and give giver a deduction, but donee’s tend to be in lower brackets, would incentivize shifting btwn brackets. 

c. Over $12k, subject to gift tax

i. Exception for tuition

d. Includes property- can get stock as a gift. 

i. But if you get dividends from the stock, that’s taxed.

2. Commissioner v. Duberstein (1960) pg 133

a. Case 1- D receives car from B as a thank you for suggesting customers. D not an employee. Court said gift.

b. Case 2- S was church comptroller, retired, directors voted him $20k gratuity. Court said income. $ from employer matters.

c. Test?

i. Statutory- gift proceeds from a “detached and distinterested generosity” “out of affection, respect, admiration, charity or like impulse”

1. Intention matters

ii. Not just absence of obligation, can’t be payment for services rendered, can’t come from the incentive of anticipated economic benefit.

3. Irwin v. Gavit (1925) supp: Question of whether the willed income ($1k every yr for 10 yrs) from a trust is taxable. Trust property ($10k- not sure what it consists of) to go to gdaughter in 10 yrs. 

a. Is this income from a property that is taxable, or property from a bequest that isn’t?

i. Problem is, that is it’s not taxable, no one is paying tax on it. If G-pa were alive, it’d go to him, he’d pay tax, then give it. Here, no one would get taxed. 

ii. Court says it is income from property, under § 102(b).

b. Somewhat unfair to son in that he pays all the tax, gdaughter none. 

i. (Could have set it up so that gdaughter gets amount necessary to invest in  zero coupon bond to have 10k at the end, she’d get taxed on the difference. Rest of money could have gone to son, he could have purchased an annuity, have the $10k at the end) 

4. § 1015(a): essentially, basis carries over in a gift, unless, when you’ve sold it for a loss, basis is more than the FMV, then it’s the FMV.

a. Policy- discourage the passing on of losses (and their tax benefit). Ok with passing on gains. 

i. Shifts tax consequences to donee

	
	                                   At time of gift

	
	FMV > Donor Basis
	Donor Basis > FMV

	Donee Gain on sale
	Carryover basis
	Carryover Basis

	Donee Loss on sale
	Carryover basis
	FMV Basis


ii. So if the donor’s basis was 20, the FMV at gift was 10, and you sold for 5, the AR is 5, B is 10, and you have a loss of 5. 

1. But if the basis was 9, you would use that, because not >FMV

2. The idea is that the donee always gets carryover basis, but the donee's subsequent losses are allowed only to the extent that they exceed the donor's unrealized losses at the time of the gift.

iii. Exception- if you were to calculate for a gain and you get a loss, but if you were to calculate for a loss and there’s a gain, then you just don’t have taxable income.

1. Donor basis 20, Donee sale 15, FMV at gift 10

a. Calc Gain: AR 15, B 20 = (5)

b. Calc Loss: AR 15, B 10 = 5

5. Bequest § 1014(A)

a. SET TO END after 12/31/09. Replaced by § 1022

b. Step up basis for bequested property- basis become FMV

i. Don’t bequest depreciated property because it decreases the basis- better to gift it and keep the basis higher.

c. § 1022

i. Compromise – limited step up, some carryover

ii. A minimum basis equal to FMV of assets transferred at death or $1.3mm, whichever is smaller. 

1. For most decedents, the step up rule still applies (DON”T GET!?)

2. $1.3mm is aggregate for estate, not per property. 

a. Additional $3mm step up for spousal ($4.3mm)

iii. Does this create a lock-in effect. Kids won’t sell either.  

6. Estate Tax

a. Calculate the value of the estate, subtract the exclusion – tax everything above that. 

b. Been effectively phased out by increasing the exclusion. Cong monkeying with it.

7. Deducting § 274(b)

a. Can’t deduct for something that’s a gift under § 102 (been excluded from GI) with a de minimis exception of $25 or less. If you gave something that counted as income for the person, you can deduct.

i. Policy- allow one tax benefit for the transaction, but not two. 

b. Hypo- employer gives ee show tx worth $100. 

i. Ee- not excludable under § 102. Possibly as de minimis fringe under § 132

ii. Employer- Not a § 274 gift. So they can deduct. (Verify)

8. Bargain sale

a. Part sale, part gift (sell it to your sister for way under FMV)

b. § 1.1001-1(e): essentially treats it just like a sale.

i. If you have BA w FMV of 100, B of 40, sell to sis for 50, you have gain of 10. But it’s ok- if she sells, she’ll be taxed for the rest of the gain (AR 100- B 50= 50 gain)

ii. Could have conceptually thought of it has half gain half sale.

1. Sell half for 50, B of 20 = gain of 30. Then gift other half, carryover B of 20. If she were to sell, she’d have a gain of 30.

2. This is how it’s thought of if you donate to a charitable organization. § 1.1001-2

a. Policy- cuz the gov’t won’t be able to get the rest of the tax from the org otherwise- try to maximize now.  

iii. So either way, gov’t gets to tax 60, just a matter of who pays tax. 

9. Prizes & Awards § 74

a. They are income. Even Nobel Peace Prizes

i. If you designate to a charity (never passes through you), then don’t have to pay tax. 

b. Scholarships § 117
i. Don’t tax. Policy choice- orgs would have to provide more money to provide the same benefit. 

Cancellation of Indebtedness

1. When you get a loan, it doesn’t count as income for tax purposes because there’s an obligation to repay- you’re not wealthier

a. § 61 If the debt is cancelled, you have income. 

2. Kirby Lumber

a. Co. sold bonds for $12.1mm, later repurchased for $11.98mm. Court says the difference is like forgiven debt. Buying bonds back is like repayment of a loan. 

b. Differentiates from Kerbaugh-Empire- there, more like price negotiation than COD.  (Walker thinks Kerbaugh is wrong)

3. § 108

a. (d) Insolvency

i. If you don’t get taxed on COD b/c insolvent- doesn’t go away forever. Reduces basis, so if you sell later, you’ll have more TI.

ii. Insolvency exception is limited to the amount by which you are insolvent

1. Have $15k assets, $20k debts, $8k debt forgiven, you still have $3k income (amount above insolvency amount)

b. (e)(5) Purchase Price Adjustment

i. You buy a car, it’s a lemon, go back and negotiate $10k loan down to $8. Not COD, but purchase price adjustment. No income. 

4. Policy for COD income

a. You’ve had a change in wealth.

b. But IRS says, cancellation of a penalty (i.e. sued, judgment against you, SOL for enforcement runs, never pay) is equivalent to you borrowing cash to pay the penalty and then not repaying the borrower, so COD income. 

i. But they’re just assuming a borrowing.

5. Zarin v. Commissioner

a. ∆ borrowed $3.5mm from casino to gamble, repaid only $500k. IRS saying COD

i. IRS- he got something of value for the money he borrowed. Though, he couldn’t have just cashed in the chips and taken the $ out of the casino w/o paying the debt

1. Not really equal to real money- like monopoly money (but only when you lose? If won, then real money)

2. But banks fully expect to collect. Casinos don’t.

b. Zarin loses. But in Rood, 11th Cir. goes other way. 

c. Court disaggregates- looks at borrowing separate from what you did with the money (gambling)

d. Could try to argue this as purchase- money debt reduction.

6. Illegal income

a. Why should a thief/embezzler have income?

i. Court not taking an easy line on people engaged in illegal activity. 

b. Collins v. Commissioner

i. Punched in $80k of bets (legally?), had $42k in winning tickets. $39k net loss.

ii. ∆- I started the day with nothing, have a net loss, how can I have income?

1. Court adopts disaggregation principle. (1) you borrowed/embezzled $80k (2) then you lost half of it as racetrack.

iii. Treats $80k as illegal income and taxes it. 

7. Non- COD

a. Furniture company promo if Sox won the series, all buyers from a certain period would get a 100% refund.

i. Not COD (no debt), but they are wealthier- income?

ii. Court says adjusted purchase price (negotiated to zero)

1. Why not a prize?

Tax Expenditures and the Concept of Income

1. Tax Exempt Interest § 103

a. § 103(a): GI doesn’t include interest from a state or local bond (couple exceptions)

b. State or local bonds. Allows them to fund things at a cheaper rate.

i. Idea that the borrowing authority can push down the interest rate, but people will still borrow b/c tax benefit.

ii. These tend to be better for people in higher tax brackets (tax affects them more). 

1. State would have to increase the rate to attract people in lower tax brackets – this makes it more more advantageous (as opposed to neutral) for wealthier people to buy state bonds

a. So some of the subsidy goes to the state, some to the high bracket people.

iii. Could solve this by having a non-progressive system (tail wagging dog) or have the state issue the bond, Fed tax it, but then give the money back to the state. Or state could issue 10% bond, Fed could issue 40% of the interest. 

2. Consumption Tax

a. Tax consumers as opposed to earners. 

b. Would have to be high, prob 20%. Would prob result in a huge underground market. 

c. Could also use an income tax model- consumption minus change in wealth (tax people on what they don’t save)

d. Flat tax doesn’t allow for progressivity

i. Also doesn’t capture investment income

	t= 50%, i= 10%, $100 income y1; spend in y1 or y2
	

	
	Spendable Y1
	Spendable Y2
	Y1 v. Y2

	No tax
	$100
	$110
	100 v. 110

	Consumption tax 50%
	$50
	$55 (saved, then spent)
	50 v. 55

	Wage tax 50%
	$50
	$55 (had 50, then interest)
	50 v. 55

	Income tax 50%
	$50
	$52.5 (wages and investment income taxed)
	50 v. 52.5


Deductions
	· Capital Expenditures § 263

· Not immediately deductible. Essentially becomes basis


	· Personal Expenses § 262

· Typically aren’t deductible at all, unless Cong decides they are



	·                                                    Business Expenses § 162

·                                        Are immediately deductible 

·                                 Next class added § 212


1. Itemized Deductions

a. There’s a cap- Congress can keep the tax rate the same, but effectively raise taxes.

2. Above the line deduction

a. Can take regardless of whether you itemize. Not subject to a cap

Profit seeking Expenditures

1. (Numbers 1-11 are about O&N business expenses)
a. Welch v. Helvering (1933) pg 231

b. π paid some of the debts of the family co. when it went bankrupt for 5 yrs to regain goodwill of the customers. 

i. Wants to deduct as ordinary and necessary business expenses

ii. IRS says capital expenditures- an outlay to develop reputation

1. If capital, what would be the basis?

c. Court says no deduction. Focus on “ordinary” and “necessary”. Say it’s extraordinary (confusing ‘ordinary’ with ‘common’?)


i. Can say they were necessary in that they were appropriate and helpful- a pretty low hurdle.

2. § 162 Trade or business expenses

a. Cong has carved out some deductions that would normally qualify for public policy reasons

i. Can’t deduct for bribery

1. Even though may be O&N. Does this put US companies at a disadvantage abroad?

ii. Can’t deduct for paying someone to send customers to you. 

3. § 212 Expenses for production of income

a. So, cost of maintaining your estate isn’t deductible (not about producing income), but the cost of preparing your income tax is.

4. Gilliam v. Commissioner (1986) pg 234

a. Accident on a business trip. Probably a business expense, but not O&N.

b. Court says isn’t business (?)

5. Commissioner v. Tellier (1966) pg 246

a. Controversy over legal fees for a fraud conviction, in securities trade. Are O&N, prob business.

b. Allow deduction for legal fees in fraud conviction.

i. Subsidizing crime? But right to have legal representation?

ii. Deductions are also neutral- not really a subsidy. Usually the same level of deterrence in a no tax world. 

6. If business is illegal, are expenses deductible?

a. Commissioner v. Sullivan- illegal bookmaker. Costs of doing business. State made payments illegal- if payments aren’t legal (even if activity is- renting an office), can’t deduct.

b. Tank Truck- overweight fines on PA highways aren’t deductible. 

i. If you want to optimally deter, you should allow the deduction (get taxed on the income benefit of overloading, but can also deduct) 

1. Say the state only wanted to recover the costs of the damage to the highways

a. But, wouldn’t this be the Fed paying?

ii. If you want to eliminate the behavior altogether, you don’t deduct. 

c. § 280E – cant deduct for drug trade or business

7. Lobbying § 162(e)

a. No deduction for influencing legislation (de minimis exception and a local exception)

8. Compensation § 162(a)

a. Debated as to what’s a reasonable salary (mostly for small companies, not public companies)

i. Companies want to pay people in salaries b/c deductible

ii. Most of the litigation has to do with dividends disguised as salaries

1. Not an issue with public, because public may have most of stock- would have to be giving the dividends to all, so not going to be a disguise.

9. § 162(m) Excessive Compensation

a. Can’t deduct salary to employee if more than $1mm

i. But can if it’s performance/commission based

1. Stock options easy to qualify as performance passed

2. Until TARP, no limit on stock options

ii. Stock options & bonuses are deductible

b. Policy- want pay to be somewhat connected to performance

i. Focus on stock options- prob why exec pay skyrocketed

ii. Shouldn’t do this through the tax code!

c. Applies to CEO and next 4 most highly paid

10. TARP: Troubled Asset Relief Program

a. Co.’s get loans through Cong. Limits exec pay to $500k including stock options, only applies for as long as you have the loans

i. Unreasonable- execs will leave.

ii. Shareholders will bear the burden, Cong gets to say they didn’t foot exec bill. 

11. Capital Expenditures (#’s 12-17)
a. Idea that you can currently deduct an expenditure as opposed to capitalizing

b. The cost of property having a useful life substantially beyond the taxable year” is a capital expenditure. 

c. Capitalize and deduct- divide the deduction over a period of time, rather than deduct all at once

i. If you could expense it, save more money now- present value of the money is better. 

12. Woodward v. Commissioner (1970) pg 302

a. Litigation over a forced sale of TP’s shares, buyers paid $25k in legal fees, tried to deduct under § 212 as O&N for the management of income property.

i. Shares would be capitalized, should fees also be? 

ii. Commissioner disallowed deduction, said they were capital expenditures in connection with the acquisition of capital stock of a corporation

iii. Court focusing on the fact that the shares were acquired

1. Look to the origin of the legal claim

13. § 263- Capital expenditures aren’t deductible 

a. (Me- because we give such special treatment to capital gains at the other end of the sale?)

b. We capitalize the cost of shares/stock

i. Policy- will get revenue over time. Haven’t really had a change in wealth. Deductions are meant to signify a decrease in wealth. 

c. Contract termination is capitalization

d. Advertising is deductible

i. But new product development is capitalized. 

e. Regs provide some exceptions

i. 12 month rule- useful life ends w/in 12 months, can deduct

ii. De minimis- less than $5k, deductible expense. 

f. Things that are clearly capital that Cong allows to deduct

i. § 174 Research and Development

ii. § 173 Newspaper circulation expenses

iii. § 190 expenses in removing barriers for the handicapped. 

14. INDOPCO v. Commissioner (1992) pg 309

a. Friendly takeover by Unilever of National Starch. Investment banking fees. Clear Unilever’s had to be capitalized after Woodward, but what about NS?

i. NS argues that they didn’t acquire anything- no separate asset – should be able to deduct. 

ii. Court says that’s sufficient, but not necessary. Can’t deduct

1. Still getting a long term benefit (but doesn’t everything creates future benefits)

iii. (Could deduct their employee’s salaries that were working on the deal)

b. Compare to Staley- company fighting a hostile takeover, Court allows them to deduct- not about a new asset or future value- trying to preserve status quo. 

i. Friendly merger- both sides capitalize. 

ii. Bright line test- things that happen before there is a letter of intent, you can deduct. After that, you capitalize. (can’t get around it by just not sending a letter- some stuff so inherent to a merger, you can’t deduct)

15. Repair vs. Replacement of Tangibles

a. Maintenance- continuing the life, that’s deductible

b. If you have a repair that extends the life, then it’s not deductible

c. Staley was more like a repair, Indopco was more like a replacement. 

16. § 263A Tangible Assets

a. If ABC Co. builds a building, $50mm in materials, $50mm in workers- have to capitalize it all. 

i. Also have a bulldozer w/3 yr useful life. But if you use it full time for the year, the cost of depreciation is just another building cost. 

b. Have to capitalize the direct and indirect costs of capitalization. 

17. Capital Recovery

a. Can look at the loss as a capital recovery provision  (not how you want to recover)

18. § 165 Losses
a. For individuals- trade or business, profit transactions, casualty losses, theft. 

b. Wagering losses only to the extent of the gains. 

c. Hypo: Spend $$ to plant trees. Not deductible cuz personal, or they’re business and you capitalize.  If they’re destroyed, can deduct on adjusted basis. 

d. Hypo: House, B = 100, FMV= 180. Burns down, worth 0. Can deduct, but only the basis. The rest is just unrealized gain. 

i. If $70 insurance, then you could deduct $30. 

e. Cottage Savings (1991) pg 166

i. Bank has a bundle of bad mortgages, B of $6.9mm, FMV of $4.5mm. Can’t just sell (for accounting purposes), but want to realize the loss. Swap mortgage bundles with another bank, try to claim a $2.4mm loss. 

ii. Commissioner says it isn’t a disposition of property under § 165

1. In order to be a disposition, there has to be a material difference between the items.

a. § 1001 Determination of recognition of gain or loss

2. Court says they’re different- prob a policy decision in the crisis

a. Not a wash sale- not really a security, plus, different homeowners. 

19.  § 1211 Limitation on Capital losses

a. (a) Corporations can only count losses to the extent of sales/exchanges

b. (b) Individs, can only count losses to extent of cap gains. If losses are more, can deduct them up to $3k.

i. Policy- limit TP’s cherrypicking their losses to offset other incomes. 

ii. $3k isn’t very much…..

20. § 267 Losses in transactions between relatives
a. Can’t realize a loss in a transaction with a relative. 

i. Carryover the  loss from the relative transaction to the next

1. (I have BA with B of 1000, sell to sister for $800, she sells for $1500. Carryover the $200 loss, subtract from the AR of 700, equals recognized gain of $500)

2. Unless the FMV is less than the donor’s basis and the donee sells for a loss (If sister sold for $500, loss is only $300. Don’t get to count the $200 also)

b. Policy- prevent you from shifting losses over to family member. 

21. § 1091(d) Unadjusted Basis in Case of Wash Sale of Stock

a. If sell stock for a loss then buy back within 30 days, it’s a wash sale (kind of a sham to realize the loss)- won’t recognize the loss.

i. Doesn’t mean it disappears- goes into the basis of the new stock.

ii. Say you buy a share of X for $200, sell it for $90, then buy another share a week later for $80. Can’t recognize the $110 loss on the first sale. But, the B for the new share is $190. 

22. Fender v. US (1978) pg 388

a. Fender had a trust for sons with a lot of gains, to offset, tried to sell some bonds that were owned by the trusts. Bought the bonds for $435k, sold for $225k to a company in which he had 40% of the stock, loss of $210k, 42 days later, but back for almost $225k. 

i. Not familial under § 267- have to have 50% stock

ii. Not a wash- more than 30 days

b. Loss not allowed- bank had no interest in actually buying the bonds and Fender knew he could buy it back. No risk involved (like you would in playing the stock market)

23. Bad Debt

a. Loans, if not in the trade or business, are treated as gifts. If you never get repaid, you can’t deduct the loss. 

i. Cong drew the line between trade/business and profit seeking because the line between profit seeking and personal was probably too hazy. 

b. U.S. v. Generes (1972) pg 418

i. G was a major shareholder in a Co., lent them money, it defaulted, said he’d made loans to protect his job/salary, should be able to deduct. 

ii. Court says more like profit seeking/investment motivation, no deduction. 

24. Depreciation
a. Is about the reduction in value and therefore deduction in income- you are less wealthy. 

i. Depreciable assets- wasting assets, machines, vehicles, buildings, trade or business, profit seeking

ii. Non-depreciable – non-wasting assets, land, personal

iii. § 197 – amortization period for intangibles/goodwill is 15 yrs

iv. Policy- encourage investment

b. Economic depreciation- the difference in value from year to year

i. Can look at the decline of an asset by the shape of the income stream over time (mark to market isn’t really feasible/reasonable)

c. Level Income Stream Asset

	· 
	· Yr 1 - 2010
	· Yr 2 - 2011
	· Yr 3 - 2012
	· Total
	· Depreciation

	· Income:
	· 1000
	· 1000
	· 1000
	· 3000
	· 

	· 
	· 
	· 
	· 
	· 
	· 

	· PV as of 1/1/10
	· 909
	· 826
	· 751
	· 2486
	· Yr 1: 751

	· PV as of 1/1/11
	· 
	· 909
	· 826
	· 1735
	· Yr 2: 826

	· PV as of 1/1/12
	· 
	· 
	· 909
	· 909
	· Yr 3: 909

	· 
	· 
	· 
	· 
	· 
	· Total: 2486


i. Present value is the income discounted back- how much you would have had to invest to get the income by the end of the year

ii. The economic depreciation is the difference in the total value between years

d. Gradually Declining Income Stream

	· 
	· Year 1
	· Year 2
	· Year 3
	· Total
	· Depreciation

	· Income:
	· 1300
	· 1200
	· 1100
	· 3600
	· 

	· 
	· 
	· 
	· 
	· 
	· 

	· PV as of 1/1/10
	· 1182
	· 992
	· 826
	· 3000
	· Yr 1: 1000

	· PV as of 1/1/11
	· 
	· 1091
	· 909
	· 2000
	· Yr 2: 1000

	· PV as of 1/1/12
	· 
	· 
	· 1000
	· 1000
	· Yr 3: 1000

	· 
	· 
	· 
	· 
	· 
	· Total: 3000


i. Depreciation is flat

e. Rapidly Declining Income Stream

	· 
	· Year 1
	· Year 2
	· Year 3
	· Total
	· Depreciation

	· Income:
	· 1000
	· 500
	· 250
	· 1750
	· 

	· 
	· 
	· 
	· 
	· 
	· 

	· PV as of 1/1/10
	· 909
	· 413
	· 188
	· 1510
	· Yr 1: 849

	· PV as of 1/1/11
	· 
	· 455
	· 206
	· 661
	· Yr 2: 433

	· PV as of 1/1/12
	· 
	· 
	· 228
	· 228
	· Yr 3: 228

	· 
	· 
	· 
	· 
	· 
	· Total: 1510


i. Depreciation declines over time- get more depreciation early. What TP’s want

f. Cong provides accelerated depreciation as an incentive for TP’s to pay money

i. If the asset looks like the 3rd, not really a subsidy. If it looks like the 1st, then it is. 

25. § 168 Depreciation

a. Three parts- 

i. method 168(b), 

ii. recovery period 168(c)

1. § 168(i) for definitions of class life, § 168(e) for recovery period (generally a shorter time period)

2. Policy- subsidy

iii. convention 168(d)

1. Half- year convention: The year you buy and the year you sell each count for half a year of depreciation, regardless of when in the year you bought/sold. 

a. Most property with a short life is subject to it.

b. Policy- simplifies things

b. (b)(4)- salvage value is zero. Simplifies, kind of a subsidy

c. § 1016(a)(2)- reduce the basis for depreciation

26. Double Decline Method

a. Usually applies to property with less than a 15yr life

i. Really long term property has straight line

b. You double the straight line rate to get your uniform rate that you will apply each year, apply it to the adjusted bases. 

i.  168(b)(1)(B)- the year that your deduction would be larger with the straight line method, you switch to it. 

c. Hypo: Asset with 5 yr recovery period, $1000 initial basis

i. Straight line, would divide over 5 yrs- depreciates 20% a yr

ii. Double decline- 40%, but recalculate every year against adjusted basis

	
	Straight Line Only
	Double Decline Only
	Real Double Decline

	Year
	Depr Ded
	End yr basis
	Depr ded
	End yr basis
	Depr Ded
	End yr basis

	1
	200
	800
	400
	600
	400
	600

	2
	200
	600
	240
	360
	240
	360

	3
	200
	400
	144
	216
	144
	216

	4
	200
	200
	86
	130
	108 (straight line switch)
	108

	5
	200
	0
	52
	78
	108
	0


iii. So when you switch, you would calculate by dividing the adjusted basis by how many years are left. 

1. Straight line of 216 (divide by 2 yrs) – 108 deduction

2. DD of 216 (40%) – 86.4 deduction

a. So, you go straight line. 

d. There’s also a 150% decline method (similar to DD, except 150% of straight line rate rather than 200%)

i. Applies to property with a 15-20 yr life (§ 168(b))

27. Depreciation table on page XV

a. Reflects half year rule (just deduct half the percentage)

28. Sell an asset subject to depreciation

a. Bought for $1000, took depreciation deds for $400, B is $600, sold for $900, recognized gain is $300. Though, real world, you’re down $100.

i. But in tax world, you reduced income by $400. If you can sell for $900, we prob overly depreciated, trying to compensate by regaining the gain of $300. So, overall, you deducted $100 of income, reflects real world. 

29. § 179

a. Cong says if you invest up to $500k into service (depreciable equipment), you can immediately deduct $125k. 

b. Aimed at small businesses. 

30.  § 168(k) – Bonus deduction, comes and goes. Reinstated after Sept 11. 

a. In 2008/2009, allows for an immediate 50% deduction for an item placed into service, regardless of company size or amount spent.

b. Small companies get § 168 and § 179 (apply § 179 first)

i. If you bought a $225k piece of equipment with 5yr life, apply § 179, deduct $125k, have B of $100k. Then apply § 168, deduct 50%, B is now $50k. Then apply DD of 20% (half year of 40%), deduct another $10k. So you’ve deducted $185k in Y1 and have B of $40k.

c. Policy- timing, want people to buy/invest now. Aimed at capital intense businesses. 

31. Cost Depletion

a. Cost depletion method- estimate total recoverable amount, divide by years

i. If your oil well has an estimated 100k barrels in it, you extract 10k a yr, you get to deduct 10% of your basis

ii. Adjust the deduction as you learn more about the resource

b. Percentage method § 613 – based on experience of what the average cost/yield of a mine, for every dollar of gross income, you recover a certain percentage of your cost. 

i. You get to continue to deduct even after the basis has been recovered

1. Is a subsidy. Can be worrisome if goes on long time

2. Can’t have negative basis, so B is zero when sell

ii. Cong decides when to allow % depletion method

The Business/Personal Borderline

1. Pevsner (1980) pg 261

a. Court says YSL business clothes that she has to wear aren’t deductible as business expense

i. Clothes are wearable outside of work- not deductible
1. Court wants objective bright line test
ii. If employer gives the clothes that are wearable outside work, included in income. 

1. Test is if it would have been considered working condition fringe that she could deduct if bought herself- fails test

2. Childcare
a. No deduction as a biz expense. 

b. § 21- provides credit up to 35% of dependent care services.

i. Applied to the lower of the two incomes, only to earned income (not investment)

ii. Up to $15k AGI, then phase down 1% for every $2k AGI (§ 21a2)

1. Basically, this means no one actually gets the full 35% credit

iii. But low income families, may not help- already have enough credits to not pay tax.

1. Look at p. xix ( Refundable credits. But this isn’t refundable

a. Policy- not looking as a biz expense, only get it if you have taxable income.

iv. Cap on creditable expenses (§21c) - $3k for on kid, $6k for 2. 

c. § 129 – excludes employer provided child care. Up to $5k a yr, not phased out. Applies to lesser of two spouses’ incomes. 


i. Affects § 21, in that it reduces creditable amount

1. If you get $2k employer childcare for 1 kid, reduces § 21 creditable amount to $1k. 

d. Could we say you could deduct for biz childcare but not personal? Tough to administer. But we do for meals. 

3. Travel and Moving Expenses

a. § 162(a)(2) Deduction for business travel expenses

i. Incentives extravagance? Get that extra glass of wine- gov’t paying for 35% if in high bracket

ii. Limited by § 274(m)

b. Travel
i. Home is your principal place of business

1. Temp living only counts if there less than a year. 
ii. Overnight rule- Correll, SC says “away from home” doesn’t include a trip that doesn’t require “sleep or rest” no matter how far you travel.

1. Necessary, but not necessarily sufficient for meal deductibility.

c. Commuting

i. Flowers
1. ∆ lives in Jackson, works in Mobile. Court says no deduction, it’s personal choice and we won’t subsidize. 

2. Commuting is personal. 

ii. McCabe (pg 269)

1. ∆ has to carry a gun for work, can’t get NJ gun permit, has to go around. Tries to deduct for his extra commute. Nope.

iii. Fausner
1. Pilot has long commute, has to carry an overnight bag, wants to deduct. Court says no, you’d have to drive those miles anyway.

iv. Basically, unless you need a trailer to haul work supplies, can’t deduct

1. Even if lawyer, have 50lbs of materials, normally takes subway, has to take cab. 

v. Hypo: Dr. commutes from home to Med Plaza (reg place of biz), sometimes has to go to hospital. All in same metro area. Trip to Med Plaza not deductible, but prob Med Plaza to hospital. 

vi. Hypo: Joe commutes to Site 1 during week 1, Site 2 during week 2- neither deductible, both principal places of work when there

vii. Hypo: Jill has home, normal office. Today goes directly to client, works there. Deductible. Not principal place of biz.

viii. If your home is the principal place of work, you can deduct if you commute to another work location. 

d. Hantzis (1981) pg 272

i. Law student in Boston, summer in NYC, husband stayed in Boston. Wants to deduct expenses during summer employment (transportation, NY apt and meals)

ii. Court says home was in NYC, no commute. No business reason for maintaining residence in Boston- husband’s biz doesn’t count

iii. No biz relation between “home” and her temp location to support a finding that her duplicative expenses are necessitated by business. 

e. Moving
i. § 217

1. Have to go and stay. New place of work has to be 50 miles away. If no former work place, 50 miles from last residence. Be there at least 9 months

2. If you move from NY to SF to stay for 6 months, then move to LA permanently. 

a. Not there for at least 9 months- can deduct NY/SF moving expenses. Also not temp living expenses, as no longer a home in NY

b. But could deduct for move from SF to LA

ii. § 132(g) – if employer pays for it, not a fringe benefit if you could’ve deducted it if you’d paid for it. 

4. Entertainment
a. Use § 162 – O&N, with § 274 as a limitation (disallowance provision)

b. § 274

i. (a) Meals- talking business, deductible.

1. Can’t deduct entertainment facilities (ski lodge)

2. Club dues

ii. (n) Only 50% of meal and entertainment expenses 

1. Exceptions listed in (e)- ee food on premises, reimbursed expenses

2. Exceptions of de minimis under § 132(e)

c. Hypo: Chicago trip, $300 hotel, $100 meals. 

i. Ee reimbursed $300 and $100

ii. Er deducts $300 and $50.

iii. No tax consequence for ee, er bears the burden. 

5. Education
a. Can deduct for CLEs, but not undergrad or law school (few exceptions)

b. § 25A 

i. (a) Can’t take both credits for same student- get to choose. But, if more than one student, you can choose which for each

ii. (b) Hope Credit
1. 100% of the first $1k, then 50% of the excess that doesn’t exceed applicable limit (currently $2k)

2. Only for at least ½ time students, first 2 yrs of undergrad, no felony, only for 2 yrs. 

3. BUT, § 25A(i) for 09/10- 100% of first $2k, then 25% of excess up to $4k, for first 4 yrs of undergrad, AGI phaseout begins at $80k/160k.

iii. (c) Lifetime Learning Credit (LLC)
1. Get 20% of your qualified tuition, up to $10k

iv. (d) AGI phaseout- look to excess AGI, divide by $10k/$20k, that’s the percentage of the reduction. 

c. § 222 Qualified Tuition and Related Expenses

i. Can’t take if you took Hope or LLC

ii. Can deduct w/o itemizing (VERIFY)

iii. Not a gradual phaseout

6. Interest

a. § 163 – Default rule, interest payments on debt are deductible (not personal)

b. Business- debt to operate a business is deductible, unless you have to capitalize (narrowly defined situations- construction interest)

c. Investment
i. § 163(d)- limitations

1. Can deduct, but only to the amount you have net investment income (from all investments in general).

ii. Hypo – borrow $100k to by apt, 10% interest. 

1. Pay $10k in interest, get $9k rent, spend $3k on non-interest expenses. You have net investment income of $6k, can deduct $6k of interest. Can carryover the rest, $4k, indefinitely.

a. Y2, net income of $7k, deduct $7k. Now have total of $7k to carry forward.

b. Y3, sell, get $20k, long term cap gain. § 163(d)(4)(B)

i. Can choose to report some of the LTCG as investment income, and deduct the carried over amount.. Could elect to have $7k as investment income (ordinary income), deduct the $7k carried over, report $13k LTCG. 

iii. Passive activity expense deductions are limited to passive activity income

d. § 163(h) Personal Interest
i. Not deductible

ii. Home mortgage is a huge exception to this

1. Policy- encourage home ownership

e. Arbitrage
i. Difference in two markets, take advantage of that (shirts in Wa Sq sell for 10, sell for 20 in Times Sq, you buy in Wa and sell in Times)

ii. § 265(a)(2) Investment interest expense deduction

1. Interest on debt used to purchase tax-exempt items (i.e. municipal bonds) is not exempt
a. Also, if you use municipal bonds as collateral to borrow money, no deduction
2. Policy- can’t borrow money, deduct interest, then not pay tax on the income.

a. Would be like arbitrage.

iii. Knetch v. US (1960) pg 360

1. Borrowed $4mm at 3.5% to buy an annuity at 2.5%. Interest payments on loan are $140k. Has a $100k loan to pay the interest. Say he’s in a 40% MTR

	
	Pre Tax
	Tax
	After Tax

	Loan
	$100k
	-
	100K

	Int. exp
	($140k) (how much it reduces his income)
	56k (how much it reduce his taxes) (uncle sam’s contribution)
	(84k) (his after tax effective cost of interest)

	
	
	
	16k


a. Trying to generate loss to offset other income. Paying $40k for a deduction in his taxes by $56k

i. Can’t do this today- can’t deduct interest, as loan isn’t backing  up a house (or anything)

2. Court says a sham, don’t really say why

iv. Goldstein- won a prize, takes out a 2 yr loan, pays interest all up front so can deduct to offset winnings. Used loan $$ to buy treasury bills

1. Court says it’s a sham- isn’t a pre-tax economic purpose
a. Question is, whether what was done, apart from the tax motive, was the thing which the statute intended. 

Personal Deductions

1. Normally can’t deduct for personal, but some exceptions

a. § 164(b)(2)- some state and local income tax

i. State w/o income tax, can deduct sales tax (tables to compute)

ii. Like a subsidy to state/local by Fed

b. Real property taxes can deduct

c. Michigan- animal care costs

d. All these are below the line

i. Except, new: § 63(c) – small real property tax above the line

2. § 165(c)(3) Casualty Losses

a. Losses from fire, storm, shipwreck, other casualty, theft

i. Theme is sudden, physical damage

b. Policy- evidentiary? Kind of insurance, but not really. Fairness. 

c. Calculate the loss as either the previous FMV minus the current FMV, or the basis, whichever is less. (Reg 1.165-7(b)(3)). 

i. Also subtract deduction from basis ( this is really about deferring the tax until later (if you sell it). Everything else is just unrealized gain. 

ii. Hypo: FMV before 750k, after 500k, B 300k. 

1. Change in FMV is 250k – use that as the loss. New basis is 50.

d. § 165(h) 

i. Loss has to exceed $500 (this year- next, $100) – don’t want people claiming every little thing. (Can only claim the exceeding amount)

ii. Net casualty loss only to the extent that it exceeds 10% of AGI

iii. Hypo: 1 casualty, no insurance. Loss of $50,500. Allowable loss is $50,000 (amount exceeding $500)

	AGI
	10% of AGI
	Ded Loss
	MTR
	Tax Savings from deduction

	50,000
	5,000
	45,000
	15%
	6,750

	100,000
	10,000
	40,000
	25%
	10,000

	400,000
	40,000
	10,000
	35%
	3,500


1. The more $ you have, the less the gov’t thinks you need the deduction. Though, as your MTR goes up, the more each dollar saves you.

2. Other way of doing it- give a credit

iv. (h)(3)- Federally declared disasters, no 10% of AGI requirement, can be above the line

v. Medical expense deduction- similar to casualty, but 7.5% AGI rule.

3. Charitable Contributions § 170

a. Policy- subsidy to charity. Could also say H-S, it’s not consumption, so normatively a correct rule anyway. But isn’t it consumption? Wouldn’t do it if you didn’t think there was value there.

b. Is an itemized deduction

i. Lower bracket people tend to not benefit from this.

c. 50% of AGI limitation 

d. Quid pro quo- if you get an item in return for your gift, have to subtract its value from your deduction. 

e. Scientology case: § 170(f)(8)- if you give more than $250, have to substantiate the contribution with a written acknowledgement (saying that the “goods or services” consist solely of intangible religious benefits)

i. Solely- can’t deduct tuition to Catholic school

f. Hypo: PILC auction. Prof pays $200 for 4 tix, 3 students pay $150 each to go to game with prof. 

i. Prof gets to deduct $150 for 3 of the tix- used 1 himself

ii. Students get to deduct $100- amount above FMV of ticket

g. Property
i. Get to deduct the FMV! § 170(a)

1. Worrisome in that when deducting from income, avoiding a higher MTR than the LTCG tax would be.

2. Also, don’t have to pay tax on the appreciation, but get to deduct for it. 

3. Charities argue it’s the same as if the person had died. 

ii. § 170(e) How much to reduce by (for tangible personal property, or for real property held for less than a year)

1. Personal property has to be related to the purpose of the organization to deduct FMV (law books to law school), otherwise only deduct basis (law books to United Way)

h. Can’t deduct time donations

Computation of the Tax

1. Progressivity- disproportionately greater tax amount with increasing income

a. Policy- redistribution, ability to pay, match services received

b. Rates steady since 2001, only the brackets changed

2. Hypo: Single TP w/TI (gross income, deductions, exemptions, etc.) of $50k

a. In 3rd bracket

b. Tax is $4,675 (bracket below) + 25% of ($50k-$33,950) = $8,687.50

i. Not bad to go to the next bracket, doesn’t change rate for previous dollars. 

3. §63 Taxable Income Defined

a. §63(a): TI = gross income- deduction (§ 62 deds + itemized deds + PEs)

i. Itemizer: AGI (GI- § 62 deds) – IDs –Pes

ii. Non- itemizer: AGI- standard ded- PEs

1. Only diff is whether there are itemized or standard deds

iii. § 151(d)(3) PE’s are phased out

1. Hypo: Couple AGI $252, 700. Phaseout threshold is $250,200. Excess of $2,500. So, 151(d)(3)(b) says 2% reduction of PE ($7300) = -146. But, 151(d)(3)(E), reduces the phaseout by 1/3, so reduction is only -49. So, PE is $7,251

2. (This creates a bubble in the MTR, because if you get another $2500 of income, not only are you taxed, but your PE goes down. And because of the 1/3, you’ll get 2/3 of your PE regardless, at one point, it will level out. So, MTR is actually functionally higher (.6%) for some people. Phaseout is more significant the more PEs you have)

iv. IDs have a 2% floor and are phased out

v. Currently, no marriage penalty- the SD is double the individual

b. Zero bracket- the amount that doesn’t get taxed (SD and PE)

i. Policy- some people need all the money to survive

ii. Should we enlarge the zero bracket- admin costs more than it’s worth?

1. But social/civic value of paying taxes

iii. Zero bracket is the line you would have to earn above to start paying taxes

c. §62 deductions

i. If in 62, then above the line. If not, below the line (have to itemize)

ii. Trade or business deductions- paradigm of above the line deds

4. § 67 Misc itemized deductions

a. § 67(b)- defining misc deductions by exception (anything not there is an itemized)

5. § 68 Itemized deductions phaseout (inflation adjusted!)

a. Hypo: Married couple, AGI = $250k; IDs = $20,000

i. 68(a)(1): AGI $250k - App Amt 166,800 (look on chart on xi) = 83,200 x 3% =$2496

ii. 68(a)(2): IDs $20,000 x 80% = $16,000

iii. So it would be $2496 (the lesser of the two) 

1. BUT, there is a phase out of the phase out § 68(f)

a. You only limit it by a fraction. 2009 = 1/3.

b. So, the reduction of your deduction is $832 (1/3 of 2496).

iv. So your total itemized deduction is 19,168 (20,000- 832)

6. § 55 Alternative Minimum Tax

a. Other system, alt tax base- allows fewer deductions, but a lower rate

i. Response to tax shelter system. 

ii. Calculate normal tax and AMT tax, pay the higher one. 

b. Policy- to reach people who wouldn’t otherwise be paying tax

	Regular Tax
	AMT

	GI
	Regular TI

	- § 62 ded
	+ TPI’s (tax preference items) (state and local taxes, PE, misc IDs)

	=AGI
	= AMTI (>> reg TI)

	-ID

-PE
	- AMT exemption (2009: $46,700 single, $70, 950 married)

	= Regular TI
	= Taxable excess

	X Reg Tax rate
	x AMT tax rate (2009: 26-28%)

	= Reg tax
	= Tentative Min Tax


i. The AMT Patch (what is the patch?)

7. § 32 Earned Income Tax Credit

a. Policy: pro-work, family friendly

i. Pretty much have to have kids to be able to take it

b. Hypo: Parent, one child. Credit = 34%. EI amount is $8950 (chart), phaseout is 16,420. If EI is $10k, get full credit (34% of 8950- can’t get it for dollars beyond the EI amount). Look to AGI for phaseout. If $10k, doesn’t trigger phaseout. If more, would trigger the phase out percentage. 

i. Policy to look to AGI- don’t give credit to those with a ton of investment income. 

c. Here, the credit percentage isn’t as favorable if you’re married as if single. 

Choice of the Taxpayer

1. Cohen proof- marriage must affect taxes in a progressive system

a. (A) Tax all units: 10% a $10k; 20% above

i. Marriage penalty

b. (B) Tax each individual: 10% a $10k, 20% above

i. If you just tax individuals, then the distribution within a couple really matters

1. Would be problems of income shifting (investment income)

c. (C) Tax singles as above, tax marrieds at 2x singles rate on ½ total income

i. Problem is that this is a single penalty. TP who earns $20k is taxed more if they’re single than if they were married. 

	
	    A
	    B
	    C

	1- Single earns $20k
	$3,000
	3k
	3k

	2- 2 singles each earn $10k
	$2,000
	2k
	2k

	3- Couple where X earns $20k and Y earns $0
	$3,000
	3k
	2k

	4- Couple where X and Y each earn $10k
	$3,000
	2k
	2k


ii. Congress has been switching around. (Which on today?)
iii. Today, as income goes up, you can see the penalty creeping in

1. At the top of the 10% and 15% brackets, the cutoff for marrieds is double singles

2. At top bracket though, the cutoff is the same!

2. Divorce § 71

a. Child support- not deductible, not income. 

i. Policy: would have to pay if child was living with you. Support, not really income. 

b. Alimony- Payor deducts, recipient includes in income

i. Can elect to reverse (so, no deduct or inclusion?), but rare

c. § 1041- Transfer property due to divorce

i. Recipient gets carryover basis, payor doesn’t recognize gain or loss

1. Tax burden shifted to recipient

ii. (c)- due to divorce if within a year or related to the divorce

3. Assignment of Income (§ 1?)
a. Kiddy Tax

i. If you transfer to a minor: unearned income to a minor is generally taxed at parent’s rate (first $1k not taxed at all)

ii. Policy: to prevent shifting to avoid higher tax rates. 

b. Earl- going to be taxed on what you earn, regardless of who it goes to
i. “Fruits must be attributed to the tree from which they grew”

ii. If took this seriously, transfer of appreciated stock as a gift should be realization.

c. Blair
i. Sets up a trust, gets $90k annually for life. Def taxed on the income.

ii. Irrevocably assigns $9k to each kid.

1. Who should be taxed on the $9k?

a. He’s the tree, should be taxed.

b. But, if he’d given them income producing stock, they’d pay. 

iii. Held that the recipient pays here. 

iv. Compare Blair to Horst

	
	Blair
	Horst

	What was transferred?
	Fraction of interest in trust for life
	Interest coupon from bond just before maturity

	Who was taxed?
	Donee (kids)
	Donor (Dad)

	Differences between transfers?
	- Not a carved out interest

-Equitable interest

- Gave up control
	- Carved Out Interest

- Legal Int

- Retained Control


v. View Blair from a ‘bad man’ perspective- a bad man would want to keep control but avoid tax. Blair has permanently given the money over. Horst could choose to not give an interest coupon in the future

1. Real issue is control

a. Carved out interest- though you didn’t give everything away, the quality of what you gave away was the same

i. Horst, had kept the principle and gave away a fraction of the interest. 

d. Hypo: Suzy has a severance agreement of $1mm for 4 years. Assigns 50% to mother. Who is taxed?

i. Not exactly like Earl- not precisely income from services (which you can’t split)

1. But Earl applies to retirement income.

2. But this is a contract right- contracted money for termination

ii. Not sure answer- exam question?

4. No/Low Interest Loans

a. § 7872 applies to zero interest and below market loans

i. Basically says that the interest is transferred from the lender to the borrower, and then retransferred by the borrower to the lender as interest (retransferred amount is ‘deemed interest’)

ii. Simulates an interest exchange for tax purposes. A gifts B an amount, which B uses to pay A as interest on the debt. 

1. Whether deemed interest is taxable is context specific

a. If B invested in the bank, he can deduct. 

b. If B bought a Ferrari, couldn’t deduct

c. Regardless, A pays tax on the interest. 

iii. Whole point is to make it just as if A had put the money in the bank and received the interest. 

b. Hypo: A has $1mm in bank, gets $50k interest a year, gives $50k to B- A pays the tax.

i. Instead, A loans $1mm to B, B puts in bank, gets $50k a year in interest. Without § 7872, B would pay the interest. 

ii. Say A is a parent, B is a kid. What does § 7872 do?

1. Deemed interest- apply federal rate to loan amount, how much the kid owes the parent (a)(1)(B)

2. But, (a)(1)(A) says that the parent had also given the kid the same interest amount. 

	
	
	      Lender (parent)
	       Borrower (kid)

	
	Character
	Cash
	Tax Conseq.
	Cash
	Tax Conseq. 

	7872(a)(1)(A)
	Gift
	- 50k
	 --
	+ 50k
	--

	7872(a)(1)(B)
	Interest
	+ 50k
	Included
	 - 50K
	Deduct


c. Employee/Employer Hypo

i. Can’t have gifts in an employment context

	
	
	   Lender (employer)
	 Borrower (employee)

	
	Character
	Cash
	Tax Conseq.
	Cash
	Tax Conseq. 

	7872(a)(1)(A)
	Gift
	- 50k
	 Deduct
	+ 50k
	Include

	7872(a)(1)(B)
	Interest
	+ 50k
	Included
	 - 50K
	Deduct- IF


ii. From the employer’s point of view, the deduction and the inclusion wash out.

iii. For the employee, depends on what they do

1. If a home loan, can deduct. 

iv. Matters because of employee compensation taxes (seen as compensation)

5. Taxation of a Decedent § 691

a. Already know that when someone dies holding appreciated property, the basis gets stepped up. 

b. But income from services or income from bank accounts, it always gets taxed

c. (UM, MISSING SOME STUFF? May be all)
When Is An Item Taken Into Account?

Gains and Losses on the Disposition of Property

1. Installment Sale Rule § 453

a. Sell something, buyer pays you in installments. Don’t get taxed on all the gain in the first year – get to postpone the tax. 

b. Policy: questionable if you’ll ever get the money, liquidity issue. 

c. How to set it up?

i. Could have you not realize gain until all the basis had been repaid.

ii. Or could balance it out proportional to each payment you get

d. § 453(c)

i. Income = payment received that year x (gross profit/contract price)

ii. Hypo: Sell GA for 15, B of 5. Get $3 in Y1, $6 in Y2, $6 in Y3

1. Y1: $3 x (10/15)= $2.

a. In Y1, $2 proft, $1 basis.

iii. Hypo: say you’d sold to your daughter, she then sold to 3rd party for $15 (B of $15)- loophole in that family is cashed out, but deferred tax 

1. § 453(e) – whatever the related person gets, the TP is assumed to get at the same time.

iv. Can’t use with market traded securities. 

e. If you don’t know the value of the profit or the time, you spread out the basis over time. If you know one, you pro-rate.

2. Non-Recognition § 1031

a. Treating like-kind exchange as holding on to appreciated property and will defer tax. We’ll treat an unlike-kind exchange as selling appreciated property for cash and will tax it now.

i. Policy: haven’t altered the nature of your investment.  

b. Hypo: A has GA, FMV of 100, B 40. B has a yacht, FMV of 100, B 75

i. Swap. AR is FMV of what you’ve received (§ 1001)

1. A: real gain $60, rec gain $60

2. B: real gain $25, rec gain $25.

3. New B for each is 100.

ii. Say B had Blackacre instead. Swap. Both have a rec gain of $0, keep the old basis.

c. Like kind- has to be used in trade or business, or be investment property. 

i. Not stock, or livestock of different sexes. 

1. (Stock, § 368, exchange of stock in a merger, we don’t recognize. Have carryover basis.)

d. Basis in new property= old B – cash received + gain recognized – any loss. 

i. § 1031(d). A good test is to imagine you immediately sold the new property at FMV, what would your G be with the new B?

1. If you recognize gain, you get a new basis, if you don’t, you keep the old basis. 

ii. Hypo: 

1. C has RA, FMV 100, B 40

2. D has WA, FMV of 125, B of 75.

3. Swap, C includes $25 cash.

4. C:

5. D: Realizes $50 ($25 cash, gets $100 property- B)

a. § 1031(b) Recognizes $25 (the cash)

b. But can’t recognize more than the sum of the cash and FMV of the property you get (can’t realize more than their actual gain would be) 

i. So if D’s B had been 115, would only realize/recognize $15. 

e. What if the boot isn’t cash?

i. C has RA, FMV of 100, B 40. Throws in boot of boat, FMV 25, B 20

ii. D has WA, FMV 125, B 75

iii. Swap


1. C- realizes 125. Old total B is 60. G realized 65.

a. Gain rec? $5- don’t rec RA, so take out the $60 RA gain.

b. New B on WA?

i. $65= 60 (old B) -$0 + $5 - $0

2. D – realizes 125 (RA and Boat). Old B 75. G realized 50

a. Gain rec? $25 for the boat.

b. New B? 100 = 75 -$0 + 25 – 0

i. But must divide among properties

ii. § 1031(d) when non-cash boot, assign basis equal to its FMV, rest to the like-kind

iii. B in boat = 25, RA = 75

f. Involuntary Conversion § 1033

i. Say your biz car is stolen, replace with another kind of car. Get cash from insurance. If you use cash to get replacement property that is “similar or related in service or use”, defer recognition of it. 

1. Narrower test than “like kind”

g. § 121 Sale of Personal Residence

i. Old rule- could defer gain forever if you just kept reinvesting ( lock-in problem til death. 

ii. New rule, § 121, is an exclusion rule, not non-recognition

1. Married couple can exclude (never pay tax on) up to $500k ($250k single) in gain on a personal residence

2. 2 yrs between uses.

3. Created a turning problem. 

iii. Can’t deduct a loss though- personal, call it consumption. 

3. Borrowing

a. Recourse debt- the borrower is personally responsible for repayment of debt

b. Nonrecourse- the borrower isn’t personally liable and the lender can look only to the assets that secure the debt for repayment ( recourse is limited to that property. 

c. Bottom line: treat the loans the same in tax. 

i. If you borrow money, it’s part of your basis. 

ii. If the debt is forgiven, that’s realized gain. 

d. Crane v. Commissioner

i. Woman inherited a building, FMV $260k, nonrecourse debt of $260k, zero equity. Took dep deds of $28k. Later sold for $2,500 and payment of mortgage. Tried to say gain was $2500. But with all those deduction, would be a huge tax benefit. SC says you have AR of the debt and cash. 

1. This only applies in acquisition- if you have a building, then later take out a nonrecourse loan on it, not going to apply the loan in basis. 

e. This has spawned all kinds of tax shelters- about timing

i. Kobe borrows $1mm nonrecourse, buys property for $1mm. Each year, takes a dep ded of $100k. 10 yrs later, takes last ded, sells for $1mm. $1mm gain- all a wash, except for timing. 

f. Tufts 

i. 35 yrs after Crane. Question- if mortgage exceeds value of property, same result? (AR is more than FMV)

ii. TP borrows $1.85mm nonrecourse, puts in $50k cash, builds building, B is $1.9mm. Takes dep deds of $450k. Market drops, FMV 1.4mm.

1. Sells, buyer takes dept. 

2. TP says $50k loss (B was $1.45mm). But this wouldn’t reflect the benefit of the deductions

iii. SC says AR is the loan taken over. Would give you a gain of $400k. When combine with dep deds, reflects real world loss of $50k. 

iv. O’Connor wanted to look at the asset and the liability separately (as some gains/losses are treated differently)

v. Still treat it as a real loan. 

g. Estate of Franklin v. Commissioner

i. Tax scam- F buys bldg from R, but R leases it back- monthly rent equivalent to monthly interest payments. Nonrecourse loan from R to F of $1.24mm, most of it balloon payment at end. F takes dep deds.

ii. Owner normally gets depr deds- F only appearing to be owner. At end of 10 yrs, can just walk away- would have taken all these deds, never really paid/owned anything. 

iii. Court disallows. No evidence that the purchase price was close to the value of the inn. If FMV is lower than the principle, no reason for F to buy at end. 

1. Tax court had wanted to say it was an option- if an option, don’t really own. 

a. But, If F had borrowed the money from the bank, it would have made a difference- actual purchase, confident in the value of the property, in the SC method. But would still be an option under tax court

b. Nonrecourse lending is always like an option

iv. (Even if F had won, would have to realize the loan forgiven- but all about the accelerated deds)

v. Pleasant Summit- 3rd Cir disagrees- allows TP to deduct depr and debt interest to the extent it doesn’t exceed FMV

4. Mortgages

a. § 1031(d)- mortgage in a like kind exchange shall be as if it was money received. 

b. § 1.1031(d)-2: example

5. Annual Reporting

a. We have a Net Operating Loss (NOL) regime (business only- not personal)

i. Can carry back a loss for 2 yrs, carry forward for 20 yrs

ii. Reopening old returns, changing them. 

b. § 1341 Claim of Right Doctrine

i. Hypo: Ee gets $10k bonus, MTR 35%. Next year, realize it wasn’t earned, return it. Ee had included bonus in income, taxes went up $3,500. Under § 1341, ee can deduct this year. 

1. (a)(4)- just allow the deduction, compute the tax. OR

2. (a)(5) – Tax for taxable year without deduction, minus, the decrease in tax from the prior year that would result from not including the item (how much did the false inclusion increase your taxes, we’ll refund it)

3. Best of both worlds for TP- gets to take the better one

ii. Have to have an unrestricted right for § 1341 to apply. No theft.

iii. (not reopening old returns, just adjusting the new one) 

c. Skelly Oil pg 665

i. Trying to make a claim of right claim, but tricky in that there was also a percentage depletion ded occurring simultaneously

d. Previous hypo- The employer paid out the bonus, got to deduct. Include in income when get it back- if you had a useful deduction. 

i. § 111- but, if ded didn’t reduce tax imposed, don’t have to include it in income
1. (refers to reducing taxable income, not tax rates)

2. Only have to include to the extent it reduced

a. So if Er had TI $7k, took $10k ded for bonus. Paid no tax. Only $7k of ded was useful. When recover, only include the $7k useful portion. 

6. Notes on Cash

a. Cash method

i. Focuses on actual receipts and disbursements.

ii. Include income if you actually receive it, deduct when you pay.

iii. Usually small businesses. 

b. Accrual method- focuses on amounts earned (though not necessarily received) & obligations incurred (though not necessarily paid)
i. Attempts to match income with expense of earning it. 

ii. Generally large businesses. 

iii. Policy: Necessary to determine net income properly. Method reflects TP’s reasonable expectations of revenues and expenses, and thereby to match income w/any related expenses. 
iv. Problems that arise

1. Uncertainty if amount will actually be received/paid

2. Amount is received before it is earned

3. Where an obligation to pay is fixed long before the time the payment will be made. 
c. If you borrow money from a cash based taxpayer, no income- still an expectation to pay back

d. If you buy a building with cash, still have to capitalize.

e. § 461(h)(4) All Events Test

i. If the fact and amount of your income can be determined with reasonable accuracy, you’d have income. 

ii. Hypo: D gets hit by cab, settlement, he’ll get $10mm in 10yrs. Cab is an accrual based taxpayer, wants to take ded on day of settlement

1. Meets all events test. But can’t deduct- (h)(2)(C)- for torts or workers comp, can’t deduct til you pay. Huge time value advantage otherwise. 

f. Doctrine of Constructed Receipt

i. If money is made available to you and has your name on it, you can’t turn your back on it and avoid it (not picking up your paycheck til next year doesn’t mean you didn’t get the income)

1. But can K with employer to not pay you til next year

Capital Gains and Losses

1. Policy

a. Lower cap gains rates, don’t want to stymy capital mobility

b. Limit deductibility of cap losses against ordinary income- realization issue ( would have too much control otherwise, could manipulate the system. 

c. Rationales
i. Inflation adjustment

1.  gains over time reflect inflation rather than change in earning power to some degree. 

ii. Encourage investment/holding of property

1. By why encourage this more than working?

iii. Alleviate bunching problem

1. Don’t try and sell it all in one year, while already in a higher bracket? (don’t try to work the bracket system?)

iv. Mitigate lock-in (encourage realization)

1. Mark to market would be better. Would be tough, but no good reason why we don’t for securities. 

2. Dividend income currently taxed at cap gains rates.

a. Dividends are corp profits being paid out, but already been taxed once. Interest payments, the lender can deduct

i. Issue that corps would reinvest profits in company, increase stock prices, TP could sell, get profit and cap gains rate that way, but for corp governance reasons, want coprs to pay dividends.

3. Long term Cap gains/Corp dividends are taxed at

a. 0%, IF, were they to be taxed as OI, they’d be taxed at 15% or lower (first two brackets)

b. 15% IF, they would be taxed at a higher rate

c. Conceptualize- view it as a stack, with OI on the bottom, cap gains/divs on top. 

i. Say $40k OI. Tax first $8350 at 10%, next bracket chunk at 15%, final amount in next bracket at 25%

ii. Say the last $10k was cap gains. 

1. So tax first $8350 at 10%

2. Next chunk up to $30k at 15% (rest of the OI)

3. $3,950 of LTCG at 0% (final amount in 15% bracket)

4. Final $6,050 of LTCG at 15% (would have been in 25% OI bracket, but since cap gain, 15%)

iii. Just like how we tax OI, but change the rates. 

1. Almost always at 15% for LTCG. 

d. § 1(h) – code way of explaining the above hypo

e. (1) tax= sum of…

i. (A) tax of the normal rates (as if no (h)) on the greater of

1. (i) TI reduced by the net cap gain: $30,000 ($40k TI minus the net cap gains)

a. Throw in dividends to net cap gains

b. Net cap gains defined by § 1222(11)

2. (ii) the lessor of

a. (I) the amount of TI taxed at less than 25%: $33,950
b. (II) TI reduced by the adjusted net cap gain: $30,000
i. Different than net cap gain- doesn’t include collectibles.

3. [So (A) results in $30,000.]

ii. (B) Tax at 0% of so much of the Net cap gain ($10k) that doesn’t exceed (equal to)

1. (i) The amount of TI which would be taxed at a rate below 25% over: $33,950
2. (ii) the TI reduced by the adjusted net cap gain (ordinary income): $30,000

3. [So (B) results in 33,950-30,000 = 3950. Tax that at  0%]

iii. (C) Tax 15% of the adjusted net cap gain (or TI if less) in excess of B

1. [ so $10,000- 3950 = $6,050. Tax at 15%]

f. NOTE: “excess…over” means subtract!

4. Short term cap gains are taxed at OI rate

5. § 1222

a. Can’t have both net short term cap gains and losses- have to have one or the other. Same with net long term gain/loss.

	
	
	Net Long term

	
	
	Gain
	Loss

	Net Short 

Term
	Gain
	NLTG= NCG: 0/15%

NSTG:  OI                            [1]
	NSTG-NLTL>0 : OI

NLTL- NSTG>0: excess (         [4]

	
	Loss
	NLTG-NSTL>0: NCG: 0/15%

NSTL-NLTG> 0 excess (                                              [3]
	Combined to offset $3k OI, balance carried forward to future years (§ 1211(b))                                       [2]


i. Notice you have to net long term and short term separately. 

ii. Losses retain their character in the future year

1. The $3k OI, use short term loss first (§ 1212(b), treat the $3k like a short term gain for purposes of the loss)

b. This is individuals only- corps can only deduct to the extent of gains

c. $3k limitation is a pretty small amount- hasn’t been inflation adjusted forever. Could increase it, still not worry about cherry-picking so much. 

6. LTCG defined § 1222(3)
a. The term “long-term capital gain means gain from the sale or exchange of a capital asset held for more than 1 year, if and to the extent such gain is taken into account in computing gross income
i. Sale or exchange- not necessarily a disposition (§ 1001 says realization upon disposition, so also a fire. But Courts are split for LTCG)
b. Holding period § 1223
i. Tack the holding period for a like kind exchange (makes sense- basically still holding the same thing)
ii. (2)- also tack for gifts (if B stays the same)
iii. Hypo: TP haw WA, dies on 7-1-08, FMV 130. Heir sells on 10-1-08 for 150. All within a year. 
1. § 1223(9)- if there was step up basis, like you held it for a year, could still have LTCG. 
c. Most difficult is determining a capital asset
i. § 1221 tries, but not that helpful
1. Property, then excludes some stuff – stock, biz property, copyright/literature, inventory, etc. 
a. So if an art dealer, don’t get cap gains treatment, but if an investor, you would. 
7. Corn Products Refining
a. Have a corn futures K. Want to say the gain/loss is capital. 
b. Court says not a capital asset
c. Business purpose test- here, was inventory, not investment (NO longer good test/law)
d. Had the π won, could have worked the system. If corn prices had gone up, could sell, get a cap gain. If had gone down, would just take the delivery of the corn, incorporate it into inventory, which goes into the ordinary profits (rather than sell at a cap loss- could only deduct from cap gains. Backdoor way of getting it taken out of OI)
8. Arkansas Best
a. Strikes down business purpose test. Just look at the statute narrowly to see if it’s a capital asset or not. 

i. Stock always is. Futures K’s may or may not be. If not, not because of purpose, but because they fit into inventory exception. 

9. § 1231 Property Used in Trade or Business and Involuntary Conversions. 

a. § 1221

i. If an item falls out of capital asset definition on § 1221(a)(1), it goes to OI

ii. If it falls out under (a)(2), it goes to § 1231

b. 1231 is Quasi-capital assets

i. Tax Nirvana

1. If there’s a gain, it’s capital

2. If a loss, then it’s OI

ii. Don’t do this asset by asset. At the end of the year, you look at all the qualifying 1231 properties and net them. Gain ( Capital. Loss( OI

c. § 1221(a)(2) broad definition.

i. Depreciable property, real property (office building), machines, oil tanker, etc.

ii. Have to actually be using it. 

iii. Inventory is never 1231, always ordinary.

iv. (c) – lists the exceptions. 

10. § 1245 Depreciation Recapture for Property (other than Real Property)

a. To balance out the fact that when you took the depreciation deductions, it was from OI and therefore probably at a higher tax rate (which would be good for you) than the rate on the capital gains you are now recognizing. 

b. When selling depreciable personal property, the gain up to the amount of depreciation deductions you took are taxed as OI. Any amount beyond is capital. 

i. Hypo: Machine for $100, depr deds of $50, sell for $250. Gain is $200.

1. $50 of gain is OI, taxed at OI MTR

2. $150 is cap gains.

3. This all gets you back to where you would have been had you not taken the depr deds (except the time advantage)

11. § 1250 Recapture of Real Property

a. Buildings

b. Extent you had accelerated depreciation, excess of what you would have had on a straight line, is recaptured. Almost irrelevant today- almost all real property is depreciated on a straight line. 
12. Property or Income?
a. Corn Products and Arkansas Best above. 
b. Hort: Was the money received for a cancellation of a lease OI?
i. Held: Yes. The $$ was just a replacement for future rent payments, which were OI. 
ii. Rule: Advancement of rental payments is OI. 
iii. Hort tried to claim a loss (diff of the FMV when the lease was signed and the amount received). But this is just like if your stock fell. You can’t claim the economic loss. No basis equal to the economic value of the lease. 
iv. Tree fruit analogy- building was the tree, lease was the fruit. The lease carved out an interest in his building- was only selling the fruit. OI. 
c. McAllister
i. Has a life interest in a trust, sells off everything. 

ii. Rule: Selling all the interest of a life interest is a cap gain. 

iii. Tries to make a Hort-esque loss argument, that is rejected. 

iv. Next, tries to say that lump sum received is capital. 

v. Court relies a lot on Blair (irrevocable gift assignment of $9k annually from a trust)

1. Parallels in that neither is a carve out- giving 100% of the interest (in Blair, wasn’t the full trust, the $9k given was in full)

a. If she’d only sold 10yrs of the payments, would be a carve out, probably OI. 

vi. Also like Gavit- trust that makes annual payments. Taxed on the income stream. 

1. Dissent argues that this is just like an advancement of payments, which we tax like OI in Gavit, so we should here.

a. But, have to be careful about taking the advancing OI argument too far, or else everything will be OI. 

vii. But like in Hort, she has no basis in a life interest (§ 1001(e) says that life interests have no basis)

1. If someone else had purchased the premium lease, and then Irving cancelled, would be easier ( you’d have a basis. 

d. P.G. Lake

i. Company transfers the interest in two oil wells to the company President as payment for debts to him. 

ii. Court says this is OI
1. Advancement of OI. 

a. Also, limited duration, about 3 years. 

2. If they’d said otherwise, it would be too easy for companies to bundle up streams of income into packages and sell them off as cap gains ( no one would wait around for their OI to come in. 

e. Lattera
i. Won the lottery, receiving payments over time. Cash out, sell their interest in the future payments for a lump sum. OI or Cap Gains?

ii. All courts say OI for lottery winnings. Reasoning varies. 

iii. Court here pokes holes in Maginnis reasonigs of no investment in property (don’t require that by any means) and no appreciation/increase in value (cap assets don’t always appreciate)

iv. Lattera Court goes through three steps

1. Family test: resemble either ‘family’ more than the other? K element makes it vague.

2. Carve out approach: 

a. Horizontal carve out over time

b. Vertical carve out is the degree of interest. Say a carve out ( but they sold 100% of their interest. 

c. Note: Carve outs always produce OI (Lake, Hort. McAllister wasn’t a carve out, was cap gain)

3. If not a carve out, differentiate between right to earned income and right to earn income. 

a. Earned: sit there and the money comes to you

b. Earn: right to put the property to work for you

c. (isn’t this just essentially the property or income question all over again?)

4. (Would this test work with McAllister. Not 1, not 2, which in 3? This test really only works for lottery)

v. Courts probably hesitate because there isn’t an underlying property. No tree.

f. Magginnis
i. Tries to cabin slippery slope of advanced OI argument

ii. Reason something is OI:

1. (1) No real investment in property

2. (2) Only view capital gain as increase in value. 

g. Ferrer
i. Not really that helpful, doesn’t advance much, not really rooted in theory. More like, it smells like OI, so it’s OI

ii. Court ultimately asks whether owner could have been forced into equity.  If could have been forced into equity, capital asset treatment, if not, you don’t (owner in income ( OI).
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